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L-TAM Module 1 Section 8 Exercises
Unless told or implied otherwise, assume all lives are independent.

For numbers | and 2, suppose deaths for males is uniformly distributed over the interval
[0, 120} and female mortality follows an exponential distribution with mean 40.

1. Determine 34q,49.45 Where (40) is female and (45) is male.
2. If (40) is male and (45) is female, determine

(a) 10130430735

(b) 10Pz03E

(¢) 3095055 Where (50) is male and (55) is female

(d) Is 103097045 = 10P70:35 * 30950555 ¢ (Comparing (a), (b), and (c).)

(€)  tPao:as for 1 <80

(f)  tPaous for i >80

(8) 240:45

(h) exoas

(1) 20940.45

() 2004045

(k) 209a40:45

(M) 10975735

(M) 10q4:45

(1) 10G40:45

2
(0) 30%10:45 — 30940:45



D 2w = 17 7
D) 20 dyoss ve Do
{ m
D)
P = BORO 2o “ig

( 0 — 9
Q\D lo|2o ?DW = o (7*{0%(&’ 1o 6“““““

Renet:

o\ o Cé%‘}(g i e P‘vlo‘.qc zo 1’@

b were nok

2%%-%9,&
G 4
L\ o . o ™ @] Q o ©
e e’ e —

_yo ZHO 2(4)

Lo hace



